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b2 A E 280 14 15 1.07 +0 266 270 +1 271 1.02
HESRAR DN - [ 8 240 24 52 2.17 +0 216 250 +28 278 1.29
S 80 40 17 0.43 +23 63 62 +0 62 0.98
BR LT 40 20 4 0.20 +16 36 21 +0 21 0.58
SET % il Bl T2 40 20 5 0.25 +15 35 25 +0 25 0.71
+AREREE T2 40 20 17 0.85 +3 23 49 +0 49 2.13
fEH L5 40 20 9 0.45 +11 31 53 +0 53 1.71
AT AL ET 40 10 4 0.40 +6 36 25 +0 25 0.69
NAES Ve v AA 80 20 17 0.85 +3 63 74 +0 74 117
15 HY AT b 80 20 8 0.40 +12 72 47 +0 47 0.65
VWb ERAERE TR 200 50 49 0.98 +1 151 136 +0 136 0.90
VWV XOEE [ SCE 200 30 44 1.47 +0 170 238 +14 252 1.48
G E 240 36 22 0.61 +14 218 186 +0 186 0.85
A IR SRl 40 12 5 0.42 +7 35 32 +0 32 0.91
2 EHES 40 12 5 0.42 +7 35 16 +0 16 0.46
1B 40 16 8 0.50 +8 32 23 +0 23 0.72
Wb EHE R ihYATh 40 16 6 0.38 +10 34 43 +0 43 1.26
15 Wl E 40 16 4 0.25 +12 36 25 +0 25 0.69
e 40 16 7 0.44 +9 33 28 +0 28 0.85
s 40 12 7 0.58 +5 33 29 +0 29 0.88
ey EES 40 12 11 0.92 +1 29 30 +0 30 1.03
= o K 40 12 3 0.25 +9 37 41 +0 41 1.11
ETER 40 12 14 1.17 +0 28 24 +2 26 0.93
VIBS Eopti] 80 4 2 0.50 +2 78 35 +0 35 0.45
H ik 40 2 1 0.50 +1 39 43 +0 43 1.10
ER 40 2 1 0.50 +1 39 37 +0 37 0.95
7RITE (BT 40 2 1 0.50 +1 39 32 +0 32 0.82
e 40 2 2 1.00 +0 38 52 +0 52 1.37
T¥ZE 40 2 1 0.50 +1 39 48 +0 48 1.23
il S 80 32 20 0.63 +12 60 56 +0 56 0.93
1= 37 o] 80 24 4 0.17 +20 76 30 +0 30 0.39
sy o] 80 24 0 0.00 +24 80 39 +0 39 0.49
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